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Solve each problem.

1) Compare the approximate kilometers per gallon of Car A to Car B.

Car A
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Distance
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Amount of Gas (Gallons)
57+82+99+150+172 = 560 total km
2+3+4+6+7 = 22 total gallons
560÷22 = 25.5

46+117+158+183+214 = 718 total km
2+5+7+8+9 = 31 total gallons
718÷31 = 23.2

2) Compare the approximate liters of orange juice produced per crates used of Company A to Company B.

Company A

Crates of
Oranges

Liters of
Orange
Juice
Made

1 83
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4 318
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Crates of Oranges
83+163+318+552+709 = 1,825 total liters
1+2+4+7+9 = 23 total crates
1,825÷23 = 79.3

73+229+306+539+696 = 1,843 total liters
1+3+4+7+9 = 24 total crates
1,843÷24 = 76.8
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